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Thanksgiving Addition

Solve the following word problems.

The Smith family spent $35.50 on turkey and $9.25
on dessert for Thanksgiving dinner. How much did
the total meal cost?

Grandma baked two pies for Thanksgiving. The
apple pie weighed 2.45 Ibs and the pumpkin pie
weighed 1.60 Ibs. What was the total weight of all
the pies?

Uncle Joe drove to the family's Thanksgiving
gathering. He spent $15.40 on gas the first day and
$12.50 the second day. How much did he spend on
gas in total?

If you bought apple cider for $4.50 and orange
juice for $6.50, how much did you spend in total?

If you bought a bouquet of flowers for $15.50 and
a tablecloth for $24.50, how much did you spend in
total?

For the Thanksgiving table, one tablecloth
measured 2.50 yards and another measured 3.25
yards. What was the total length of both
tablecloths?

A Thanksgiving charity event raised $125.75 in the
morning and $154.50 in the afternoon. How much
money was raised in total?
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